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1.   Calculate the size of angle 𝑥. 

 

 

 

 

 

 

 

 

𝑥 = sin−1(
7

10
) 

𝑥 = 44.4° 

 

 

 

 

(3 marks) 

 

2.   Calculate the angle ABC. 

 

 

 

 

 

 

𝑥 = tan−1(
7

10
) 

𝑥 = 40.2° 

 

 

(3 marks) 

𝒙 

7 cm 
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sin 𝑥 10 
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3.   Work out the length of 𝑥. 

 

 

 

 

 

 

 

 

𝑥 = cos (38) × 9 

𝑥 = 7.09 𝑚𝑚 

 

 

 

(3 marks) 

 

4.   Work out the length of PQ. 

 

 

 

 

 

𝑥 = 5.7 ÷ sin (42) 

𝑥 = 9.26 𝑐𝑚 

 

 

38° 

9 mm 

𝑥 

5.7 cm 

P 
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𝑥  
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(3 marks) 

 

5.   Work out the length of RS. 

 

 

 

 

 

 

𝑅𝑆 = 6.3 ÷ cos (51) 

𝑥 = 10.01 𝑚𝑚 

 

 

 

(3 marks) 

 

6.   Work out the perimeter of ABC. 

  

 

 

 

 

𝐴𝐵 = 13.95 

𝐴𝐶 = 11.43 𝑐𝑚 

𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟: 33.38 𝑐𝑚 

R 

S 

T 
6.3 mm 

51° 

8 cm 

𝐴 

𝐵 𝐶 
55° 

6.3  

cos 51 𝑅𝑆 

8  

cos 55 𝐴𝐵 

𝐴𝐶 

tan 55 8 



  Trigonometry  

4 
 

 

(4 marks) 

 

7.   A helicopter leaves town A and flies West 55 km. Then 

  the helicopter flies 49 km south to town B.  

  Work out the bearing of B from A. 

 

 

𝑥 = tan−1(
49

55
) 

𝑥 = 41.7° 

 

 

𝐵𝑒𝑎𝑟𝑖𝑛𝑔 𝑜𝑓 𝐵 𝑓𝑟𝑜𝑚 𝐴: 360 − 90 − 41.7 = 228° 

 

 

(5 marks) 

 

8.   Calculate the area of the isosceles triangle. 

 

 

 

 

 

 

 

 

 

ℎ = 6 × tan (42) 

ℎ = 5.4 𝑐𝑚 

 

𝐴𝑟𝑒𝑎:
5.4 × 12

2
= 32.4 𝑐𝑚2 

 

12 cm 

42° 42° 

ℎ 

tan 42 6 
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(4 marks) 

 

9.   Here is a parallelogram. 

  Find the area of the parallelogram. 

 

 

 

 

 

 

 

ℎ = 7 × sin (50) 

ℎ = 5.36 𝑐𝑚 

 

𝐴𝑟𝑒𝑎: 11 × 5.36 = 59 𝑐𝑚2 

(4 marks) 

 

10.   Two right angled triangles are shown below. 

  Find the length of 𝑥. 

 

 

 

 

 

 

 

 

 

 

𝑦 = 17 × cos (38) 

𝑦 = 13.396 …  𝑐𝑚 

𝑥 = 13.4 ÷ sin (52) 

50° 

11 cm 

7 cm 

17 cm 

38° 

𝑥 
52° 

ℎ 

sin 50 7 

𝑦 

cos 38  17 

13.4 

sin 52 𝑥 
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𝑥 = 17 𝑐𝑚 

 

(3 marks) 


